Test on Differentiation (Blank) October 07, 2014

Question 4 (25 marks)

(a) Differentiate the function 2x* —3x—6 with respect to x from first principles.
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, x#-2, xeR. Find the co-ordinates of the points at which the slope of the

() Let f(x)=

1
tangent to the curve y = f(x) is 1




Test on Differentiation (Blank) October 07, 2014

Question 6 (25 marks)
@ Let f()=¢*

12
Show that the second derivative of f(x) with respect to xis /" (x)= (x2 —l)e zx.

(b) The point P in the first quadrant is a point of inflection y
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of the curve y=e ?
Show that the tangent at P crosses the x-axis at (2,0).
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